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number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)

5

binwidth = 1.0 A, number of bins = 101 ( 2924673 < events / bin >)
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number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
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binwidth = 0.5 A, number of bins = 201 ( 1469611 < events / bin >)
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number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)

5

binwidth = 0.1 A, number of bins = 1001 ( 295096 < events / bin >)
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a(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)

5

binwidth = 0.01 A, number of bins = 10001 ( 29536 < events / bin >)

| | | | g(r) |
n(r)
TN |
2 4 6 8 10 12
-0 / A

200

150

100

50

Integral n(r) (hnumber of O within sphere)



a(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.001 A, number of bins = 100001 ( 2953 < events / bin >)
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number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
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binwidth = 0.0001 A, number of bins = 1000001 ( 295 < events / bin >)
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g(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.00001 A, number of bins = 10000001 ( 29 < events / bin >)
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a(r)

5

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 1.0 A, number of bins = 101 ( 2924673 < events / bin >)
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a(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.5 A, number of bins = 201 ( 1469611 < events / bin >)
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a(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.1 A, number of bins = 1001 ( 295096 < events / bin >)

o)
n(r)
0) 2 4 6 8 10
-0 / A

12

25

20

15

10

Integral n(r) (hnumber of O within sphere)



a(r)

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.01 A, number of bins = 10001 ( 29536 < events / bin >)
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a(r)

5

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.001 A, number of bins = 100001 ( 2953 < events / bin >)

a(r) ——
n(r)
WM*
0 2 4 6 8 10 12
-0 / A

25

20

15

10

Integral n(r) (hnumber of O within sphere)



a(r)

5

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)

binwidth = 0.0001 A, number of bins = 1000001 ( 295 < events / bin >)
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g(r)

5

number of events = 295392000.000000 (544*543)2 O-0 distance * 2000 configurations)
binwidth = 0.00001 A, number of bins = 10000001 ( 29 < events / bin >)
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